DD
3= SetOptions[Plot3D(x0r whichever plot you desiresx),

ColorFunction -» "Rainbow"(xOne of many optionsx)];

In[7]:=
(Vzor)
Plot3D[2 x+Vy, {x, -2, 2}, {y, -2, 2}, BoxRatios » {1, 1, 1}]
Plot3D[2 x+y, {x, 0, 2}, {y, 0, 2},

RegionFunction -» Function[{x, y, z}, 1/x <y], BoxRatios - Automatic]

ouf7= Vzor

out[g]=




2 | 13_nekompaktniextremy.nb

out[9]=
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i = (1 a)
Plot3D[(xA3-3 x*y+y~3), {x, 0, 3}, {y, 0, 3}, BoxRatios -» {1, 1, 3}]

Out[ ]= a

Out[+ J=
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(1b)
Plot3D[(x*2 +yA2) Exp[-x*2-y*2], {x, -3, 3}, {y, -3, 3}, BoxRatios -» {1, 1, 1/2}]

Out[ ]= a

outf+ J=

(1c)
Plot3D[(x*2+7 y"2)Exp[-5x"2-2y~2], {x, -1, 1}, {y, -2, 2}, BoxRatios » Automatic]

ouf-J- b

Out[+ J=
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In[+ J:=
(d)
Plot3D[3 x+4y/(x"2)+27/(y"3), {x, 0, 2}, {y, 0, 2}, BoxRatios » {1, 1, 1}]

ouy- - d

2000

Out[~ ]= 1000

2.0 2.0
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Inf« J:=
(1 1)
Plot3D[(7 x + 10 y) Exp[-x -¥y], {x, 0, 3}, {y, 0, 3}, BoxRatios -» Automat-ic]

out+ - T

outf+ J=
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Inf J:=
(2a)
Plot3D[Sin[x] + Sin[y], {x, -5, 5}, {y, -5, 5}, BoxRatios - Automatic]
Plot3D[Sin[x] + Sin[y], {x, -2, 2}, {y, -2, 2},
RegionFunction -» Function[{x, y, z}, x*2+y”*2 <Pi*2/4], BoxRatios -» Automatic]

outf-]- 2 a

Outf« |=

Outf |=
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Infe J:=
(2e)
Plot3D[-x*4-y*4, {x, -5, 5}, {y, -5, 5}, BoxRatios =» {1, 1, 1}]
Plot3D[-x*4-y*4, {x, -2, 2}, {y, -2, 2},
RegionFunction -» Function[{x, y, z}, x*2+2y*2 > 1], BoxRatios » {1, 1, 1}]

ouf-J- 2 €

outfJ=
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Outf+ J=




